Spare Parts List For K2 Range
Corner Entry

SCREW PACK

@ X6
CAP-50 3.5X10mm SCREW

@) X4
CAP-318 4X10mm SCREW

CAP-324 3. 5X30mm SCREW
CAP-58 4X45mm SCREW
S X6

CAL-K241A9 WALL PROFILE FOR CORNER ENTRY AND
QUADRANT 1900H

CAL-K241A \WALL PROFILE FOR CORNER ENTRY
AND QUADRANT

CALY-K242J,TOP AND BOTTOM HORIZONTAL
PROFILES FOR CORNER ENTRY 900

CALY-K242H,TOP AND BOTTOM HORIZONTAL
PROFILES FOR CORNER ENTRY 800

CALY-K242|,TOP AND BOTTOM HORIZONTAL
PROFILES FOR CORNER ENTRY 760

SCP—-K2CE FOR CORNER WALL PLUG CAHB-49A
ENTRY © x 12
SCREW CLIP CAPY-02
@ ¢4z
SCREW COVER CAP CAHY-05
(B3 X2
CAP PACK FOR =
CAHY-119
CORNER ENTRY O X 2
CP—-K2COM AND QUADRANT SR
CAHY-120
CON - K2CE CONNECTOR FOR @1 X2
CORNER ENTRY CAHVEAS
FHD—K2COM | Corner enTRvAND - — X1
QUADRANT AND PVOT DOOR SHP-FAO01
_ PMS-K2CE | profiie ano
PMS-K2CE9 | MAGNETCSTRPFOR | (F X2 e X 2
(1 QOOH) CORNER ENTRY e R8.5X5.5
SL-K2COM | SEAL FOR TH——
BLKZCOMD | SoRiEEERY cAS99 x2
(1900H) CAS-100 X2
GASKET FOR CORNER
X ENTRY AND QUADRANT | @) X 1(1M)
GSK—K2COM AND SLIDER DOOR
CAS-307A
ﬁ' X 4
ROLLER PACK
FOR CORNER SH.VSWor
RP-EK2COM | ENTRY AND ﬁil
QUADRANT @al X4
SH-VSWO08
ROLLER CHANNEL = X4
P161—K2COM CAP FOR QUADRANT T

AND CORNER ENTRY P161
<« X1
STOPPER FOR © N
CORNER ENTRY 3.5X10mm SCREW
CAHY21-K2COM | AND SLIDER DOOR o s
(WITH SCREW) AT o
GLASS CLIP FOR X1
QUADRANT , <x®
CORNER ENTRY 4X14mm SCREW
AND SLIDER DOOR
CAHY47-K2COM (WITH SCREW) & X1
(LEFT HAND OR
RIGHT HAND) CAHY-47
X1
CLEAR ROUND <®
P86—K2CE STOPPER FOR 3.5x10mm SCREW
. CORNER ENTRY S x 1
(WITH SCREW) -
P86
TOP ROLLER FOR ‘vti" X 1
QUADRANT,CORNER Q
HEK2-01COM | E{rry AND SLIDER @
DOOR SH-VSWO07
BOTTOM ROLLER FOR ll\
QUADRANT,CORNER ®.||| %4
HEK2-02COM |ENTRY AND SLIDER O)

DOOR

SH-VSWO08




